Explanatory script
Before we move on to the first set of decision tasks, I want to review some of the key points from this game.   You should understand that you will be asked to perform a number of decision tasks.  You will be asked about decisions you would make as a voter, and decisions you would make as a politician.  You will also be asked about decisions in a number of different election scenarios.  
At the end of the game, we will select one of the scenarios that you previously answered questions about, and we will randomly choose one of you to be the politician.  Everyone will then be paid based on their decisions in that scenario.  Any one of your decisions could ultimately affect your payout in this game; thus you should make all your decisions carefully.
Now, let’s understand the decisions that voters and politicians make.  Voters have an endowment of $20, of which $10 is paid as taxes into the treasury.  Since there are five voters, there is $50 in the treasury, and politicians can expropriate up to $25.  Whatever is not expropriated is returned in equal amounts to the voters at the end of the game.    Voters also have to pay a $1 transition fee if they choose not to reelect the politician.
Politicians receive a $20 salary, and can expropriate up to $25.  But, voters can punish the politician who expropriates too much by failing to reelect him/her.  If the politician is not reelected, he loses half his salary ($10) as a fine.  If the politician is reelected, he receives a bonus between 0 and $2.  
How does the reelection process work?  Each voter names a threshold of expropriation above which they would not reelect the politician.  If the politician expropriates x, and at least 3 out of the 5 voters stated they would not reelect a politician who expropriated more than x-1, that politician loses reelection.  If the politician expropriates x, and at least 3 out of the 5 voters stated they would reelect a politician who expropriated x, that politician wins reelection.
Consider the example shown on this slide.  Three voters set their reelection threshold at 8, and 2 voters at 12.  The politician expropriated $10.  Thus three voters chose not to reelect, because the politician expropriated too much.  The politician loses!
The next slide shows the payoffs.  Each voter receives the $10 endowment, and $8 is returned from the treasury; they lose $1 in a transition fee, and walk out with $17.  The politician had a salary of $20, paid $10 in fines, and expropriated $10.  He or she walks out with $20.
[bookmark: _GoBack]Consider what would have happened if voter 3 changed his threshold to $12.  In this case, the politician would have been reelected.  The voters would have similarly received $18, but the politician would have received $30.  Notice that one voter’s choice can have a large impact on the politician’s payout, and thus what the politician will choose to do.
